
O2/IV-MOUNT-ELV2/V3 Adapter  

  Page 1 of 2                                            FORM-03DOC-003 Rev. 1 

 

 

Parts Required:    IV Mount Adapter  

IV Pole & Holder  

 

 

Tools Used:    7/16" Wrench 

 

        
 

Step Execution  Figures 

1 Thread bolts through the IV Pole Adaptor and the 02 Holder Block 

Clamps (powder coated clamps) as depicted. 

 

 
2 Place the IV Pole Adaptor on the side of the elite base, in front of 

the mag wheels.  The Clamps should fit against the upper & Lower 

crossbars.  Assemble the 1" Aluminum block clamp to the opposite 

side of the crossbars & thread the bolts from the IV Pole Adaptor 

through.  Tighten with a 7/16" wrench. 

 

 
3 Insert the two 1/4"-20 x 1-3/4" long hex cap screws, through the 

pass holes located on the mounting bracket. 

 

 
4 Assemble the mounting bracket to the IV Pole Adaptor.   Place the 

1" Aluminum Block Clamp on the opposite side of the adaptor &  

Thread the hex cap screws through.  Tighten with a 7/16" Wrench. 

 

 

 

 

 

 

 

   



O2/IV-MOUNT-ELV2/V3 Adapter  

  Page 2 of 2                                            FORM-03DOC-003 Rev. 1 

 

 

5 Slide the IV Pole Holder, over the Mounting Bracket.   Secure using 

the hand wheel. 

 

 
6 At the top, swaged end, of the IV Pole Holder, insert the IV Pole.  

Insert the 5/16"-18 x 3/8" long set screw into one of the weld nuts, 

at the top of the IV Pole holder.   Insert a 5/16"-18 Hand Wheel in 

the Adjacent Weld Nut.    

 

 
 

For more information, please contact Broda Customer Care at 1-800-668-0637 

 

  


